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Q.No: 1 Lieutenant-Governer Michael O'Dwyer was killed by-

2427970

AfFeic-TTaR AT SNSER fFad §RI AR T -

Madan Lal Dhingra
A

A& dre dER

Sardar Udham Singh
B

HER Ium Rig

Sohan Singh Makna
C

e Rig 7o

Kanai Lal Dutta
D

TS T ol
Correct Ans : B

Subject : General Knowledge

Q.No: 2 Which of the following is not a feature of the Lucknow pact?

2427994

Froffea # § F-a aeTe I ot e T8 87

The Lucknow Pact was signed between Congress and the Muslim League.
A

Fi AR g ot & i TETS; THE R g Ry g A

Judiciary should be separated from Executive.
B

ARIET Y PRI | S e S =@

Separate Electorates for the Muslims accepted by Congress.
c

FIG TR WER [ ¢ gaemr & g e fafee dsal

All the members of the Viceroy's Executive Council should be Indians.
D

TR B RGN TRyg & T v urdly 89 @ik

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Kochi and Karwar are examples of which type of ports in India?

2430694
FIeT R PRAR URA & 75 TR & Tl F IaTe_0 §2
Entrepot Ports
A
e e
Out Ports
B
HIE G
Naval Ports
C

AR SR
D Inland Ports



SHAq I Qe
Correct Ans : C

Subject : General Knowledge

Q.No: 4 Kharchi festival is celebrated in Tripura every year in the month of-
2431037

Brgwr # wfaad & TN T TR S TR S §

January

St

March

July

EL

November

TER
Correct Ans : C

Subject : General Knowledge

Q.No: 5 Who among the following founded the Chola Empire in the ninth century?
2435874

frofafea & § fra At vt & e amsa Bt wioE 3 oA

Vijayalaya
A

o

Dantidurga
B

g

Gopal
c

Tiarer

Rejendra chola
D

REEC]

Correct Ans : A

Subject : General Knowledge

Q.No: 6  Which of the following Indian states does not form the border with Bangladesh?
2437354

Froffla & § o1 a1 YR I5T Sraresr F Y Jm g F9a 82

Meghalaya
A

e

Tripura
B

g

Manipur
C

o

Mizoram
D

rsia

Correct Ans : C

Subject : General Knowledge

Q.No: 7



2440800 Maha Kumbh Mela is organised after how many years?

TEIHH Al o AWl & a1e S faan S 82

3
A

3

6
B

6

4
C

a

12
D

12

Correct Ans : D

Subject : General Knowledge

Q.No: 8  Where was Mansoor Ali Khan Pataudi born in Madhya Pradesh?

2440917
TR el WH TR FT S A WS H el gt U
Bhopal
A
it
Indore
B
@R
Gwalior
C
iR
Jabalpur
D
SR

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Who among the following Indian cricketer holds the distinction of scoring the first Test century overseas?
2440937

Frofefea # § o uRdia fhdex fadx & ugen e Wad M &1 R4 3@l 87

Kapil Dev
A
Hfte <@
Chandrasekhar Trimbak Sarwate
B
AR TP WA
Syed Mushtaq Ali
C
g TR St
Sunil Gavaskar
D

G MR
Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which Madhya Pradesh district has topped in issuing the most e-health IDs under the National Digital Health Mission till December 12, 20217
2440998

12 ¥R, 2021 T AP fSfitea w@rea film & d6d Tad ol §-WRa S15S] TN R 3 7Y TS &1 B A1 forenm WY W 32

A Indore



Gwalior
B
IR
Chhatarpur
C
BWE
Anuppur
D
SR

Correct Ans : A

Subject : General Knowledge

Q.No: 11 Who founded the Chanderi City in the 10th-11th century AD?

2441120
10dt-11 et it A = 2R B R e @1 o
Raja Kirtipal
A
e et
Morprahlad
B
AR
Daulatrao Scindia
C
Qreraera Rifdvr
Raja Mardan Singh
D

T 7 Rig

Correct Ans : A

Subject : General Knowledge

Q.No: 12 In which year did the British establish the Nagar Palika in Harda?

2441137
SISI 7 g1 H TR uifciep! &t RIG fob a1 o
1866
A
1866
1867
B
1867
1868
€
1868
1869
D
1869

Correct Ans : B

Subject : General Knowledge

Q.No: 13 In which year was the district of Damoh added to Sagar district and was administrated as Sub-Division?
2441166

g R B 5 o IR Rrd 3 st man SR Iu-wvm & 0 yRnf R are

1920
A

1920

1924
B

1924

C 1928



1928
1932

1932
Correct Ans : D

Subject : General Knowledge

Q.No: 14 Which of the following is the easternmost district of Madhya Pradesh?
2441458

& ¥ o 1 A veR $1 ged gdf foran 82

Ujjain

I

Singrauli

Rt

Vidisha

fafemm

Guna

T
Correct Ans : B

Subject : General Knowledge

Q.No: 15 was declared a protected forest by the Central Government of India in 1956.
2441562

BI 1956 H YRA B g ISR g1 W& a7 B faar ma o

Narsinghgarh Sanctuary

A
RRigTE srvEaRvg
Karera Sanctuary
B
PRI ARG
Van Vihar National Park
C
7 fieR wgi SEm
Bori National Park
D

I g IEH
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Industrial Area Pillukhedi is in which district in of Madhya Pradesh State?
2441663

e & R oo v o & e o & 32

Bhopal
A

e

Rajgarh
B

TG

Guna
c

T

Agar Malwa
D

SR AIeTdr



Correct Ans : B

Subject : General Knowledge

Q.No: 17 The First Meeting of the Bar Council of Madhya Pradesh took place in which of the following years?
2441717

T T IR SRINA $I Ut Joo Futarad ¥ o af 7 g8 4

1956
A

1956

1962
B

1962

1966
C

1966

1979
D

1979

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following is the foundation day of the State of Madhya Pradesh?
2441737

Fuffea & 3 SF 7 1 IS 1 R 9 32

1 January
A

1 Sadt

1 August
B

1 3R

1 November
(o]

1 THR

1 December
D

1 fRdR
Correct Ans : C

Subject : General Knowledge

Q.No: 19  The district of Shahdol produces higher quantity of and also exports to other states.
2441817
wg<id foren et o # I FAT © SR o Al B fafa off a1
Beans
A
wiert
Carrot
B
TSR
Beet
C
TR
Drumstick
D
oo ()

Correct Ans : D

Subject : General Knowledge

Q.No: 20 Which country is the largest importer of Indian tea?
2442437



URAW o1 BT T 31 SAAGD o B T 82

Russia
A
=4
Iran
B
A
Iraq
C
NE
Bangladesh
D
Cicica

Correct Ans : B

Subject : General Knowledge

Q.No: 21 Malaria spreads due to-

2423057
1 Torg § WA Yerar -
Mosquitoes
A
T
Frogs
B
A
Dogs
c
Eal
Hedgehogs
D
Tt

Correct Ans : A

Subject : General Science

Q.No: 22 Which of the following factor determines the loudness of the sound?

2425861
Frofifea 4 4 o W oRe @i 9 gawa »1 Ruffa s g2
Frequency
A
sy
Amplitude
B
S
Pitch
C
3T Bl JAR - T1d
Time period
D

Ty

Correct Ans : B

Subject : General Science

Q.No: 23 What are the properties of each molecule and how they interact are taken into account to characterize the behaviour of a group of molecules called?
2425898

TAF 0] F 07 R ST F TF T F HGER P oM F T T FH IR v w74 €, 1 Fgad 82

Chemical Thermodynamics

IS SR



B cquiuorium wnermoaynamics

Tge SRS

Statistical Thermodynamics
C

v SeHafE

Classical Thermodynamics
D

AT SHTIRST

Correct Ans : C

Subject : General Science

Q.No: 24 The Forest Conservation Act in India was passed in which year?
2429149

URA § o IRewr St v o i faan mar ar?

1980
A

1980

1981
B

1981

1982
C

1982

1983
D

1983

Correct Ans : A

Subject : General Science

Q.No: 25 A moss, the plant body is -

2429897
F oK, TABTIRR B -
sporophytes
A
Aemuheg
gametophytes
B
TG
vascularised
C
gt
non-vascularised
D

IR-vaeh
Correct Ans : B

Subject : General Science

Q.No: 26 Observe the following figure given below. This organism belongs to which kingdom?
2429923

=1 fou e fom @1 e @ 3R 7 o frw T 1



cnidaria

A
Frefar
Ctenophora
B
FABRT
Nematoda
C
AnrSrst
Platyhelminthes
D

iR

Correct Ans : D

Subject : General Science

Q.No: 27  Which amongst the following do not exhibit polymorphism?

2429971
Frafiea § 3 o1 sgEua weRia Tel s 82
Hydra
A
EGEIG)
Cliona
B
AT
corals
C
m
Physalia
D
W

Correct Ans : B

Subject : General Science

Q.No: 28 A plastic bag dumped in the soil stays without breaking down for 500years. If a new generation starts every 30 years, how many generations would it take to see the plastic bz
2430151

Tl 3 et 7 e 1 el 500 W T T g8 B 81 SR T 30 Al H U 1§ UGl T Tl g, o wied i Aofl Y SMIRERPR ged gu aa | fbartl difgai @it

16 to 17 generations

A

16 ¥ 17 digt

10 to 17 generations
B

10 ¥ 17 Uit

11 to 17 generations
C

11 ¥ 17 didh

15 to 17 generations
D

15 9 17 gt

Correct Ans : A

Subject : General Science

Q.No: 29 The given figure represents the energy.
2430183



Kinetic energy

A
TR et
Potential energy
B
Guifda Sl
Thermal plant
C
S wie
Solar energy
D

IR el

Correct Ans : D

Subject : General Science

Q.No: 30 Which of the following vegetables/fruits is grown underground?
2431625

Frofefea ¥ § F 9@ sfsmi/ma Y I e 32

Carrot
A

MR

Beans
B

AR

Peas
C

Rir£3

Tomato
D

TAIR

Correct Ans : A

Subject : General Science

Q.No: 31 The process of conversion of into alcohol is known as fermentation.
2432206

_ ®fcdied A 9gen Bt Ufthan 1 fpvad & w9 A W o g

Fats
A

CLl

Protein
B

WA

Vitamins
C

e

Sugar
D

Eicil

Correct Ans : D

Subject : General Science



Q.No: 32 Which of the following is NOT a feature of a herb?

2432471
Frafefed ¥ § -0 e 3t Rt 78 32
They have green stems.
A
T TR A ST
There are branches at the base of the stems.
B
T ¥ omuR & wei T 8k 31
They are usually short.
C
IR RBR BT
They have tender stems.
D

I U™ B 99 B

Correct Ans : B

Subject : General Science

Q.No: 33 Which of the following is a non-biodegradable waste?

2434284
Fafefea & 3 17 @ R-va Feteia sofe 32
Vegetable waste
A
Toolt Safrg
Paper
B
IR
Plastic bottle
(o}
S Bt aw
Cotton cloth
D

gt oug
Correct Ans : C

Subject : General Science

Q.No: 34 DOTS is the treatment that was first introduced for -

2434320
leq (DOTS) 8 IUGAR g, Wi % for ugelt SR =1 f3mam T |
Cholera
A
e
Typhoid
B
TRPIRS
Influenza Influenza
C
TR
Tuberculosis
D

TR

Correct Ans : D

Subject : General Science

Q.No: 35 Which of the following elements is the most abundant in the earth’s crust?
2437178

Fofifaa & @ o1 O 9d gt 1 gt A T R 7o A g



A Oxygen

i

Silicon

Rttt

Nitrogen

AR

Carbon

EacE|

Correct Ans : A

Subject : General Science

Q.No: 36 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as i
2422675 gyt of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

a bbc__aab__cca__bbcc

ol g 3 oerl Bt uw o § S 81 37 sawsl § $9 oieR el AU e €, @R 3 gaar & 2 e e fiwedi d St F € 9 S 9 miRe) R Rju e uR Rwed! # I @ S gawn @
R 9% fawer I S T Suga g

a__bbc__aab__cca__bbcc

abba
A

abba

caba
B

caba

caab
C

caab

acha
D

acbha

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Choose the numbers which is different from others in the group?

2426455

U TG Tg # & fawH wEm @ aa B

36
A

36

24
B

24

12
o

12

42
D

42

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Which of the following diagram indicates best relation between Pen, Chalk and Non-living things?
2426799



TAHIRIIEd A { DIH-3T 3R U, dlep 3R T3l 16T & 61 JeR 37w Y P GIdl 87

O

A 0.0
@
@

Correct Ans : C

Subject : General Reasoning

Q.No: 39 Select the Lettered pair that has the same relationship as given in the questions:

2426826
Sphere : Ball
I HeR W FT 797 Y foradT day vt # faw e wue wey § 7
qq : i
Circle : Disc
A
qu: &=
Cube : Dice
B
RERR G
Line : Rope
C
X =i
Triangle : Cone
D

Py : 3
Correct Ans : B

Subject : General Reasoning

Q.No: 40 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429539
AYWC : CWUE :: CTIF : ?

I9 e o1 797 &% S R UG ¥ S TR Gafid ¥ SR R US Ued UG § Tl g1

AYWC : CWUE :: CTIF : ?

ESGH
A

ESGH

ERGH
B

ERGH



ERGI
ESGI

ESGI
Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433145 g the sequence of that series.

T2B, R4D, P6F, N8H, L10J, ?

Frofefaa vy &, Someh w Rl o ue Ria gaar & g, S 8t JEar gl ¥ 3uE 78 99 S ¢ 6 g ©U 3 39 Juar $ ogwd ¥ G fad v A IW 3 $F O deius Jue

T2B, R4D, P6F, N8H, L10J, ?

Ji2L
A

Ji2L

J14K
B

J14K

JioL
C

JioL

JiiL
D

JiiL

Correct Ans : A

Subject : General Reasoning

Q.No: 42 Which answer figure will complete the pattern in the question figure?

2433204
0]
0
B W IR AR uy sl ¥ Ve ) g Hufz
0
0
0
0
A
0
0
B
o)
0
¢ 0
0




%

Correct Ans : B

Subject : General Reasoning

Q.No: 43 Select the option that will come next in the given series.
2434163

JAN Al® &
(3 A

®

39 faed &1 07 X Sl T e § Smy sy

a Al® ®
® N
®
AN
®
A
AN
&®
&®
A
B
®
A
AN
X
C
A
=Y




&

Correct Ans : D

Subject : General Reasoning

Q.No: 44 Identify the diagram that best represents the relationship among the given classes.

2435657
Football Fans, Cricket Players, Students.
I W P} U B o 3T T AR F g Fey 1 W o1 vl war 3
Peala yigd, fhde e, s

A

B

c

D

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Rahul traveled 6 km towards north and then turned left and moved a distance of 3 km. From there, he turned left and moved a further distance of 2 km. How far is he from th
2438474

EA A IR B 3R 6 il B amn Ht Sk AR a1t gea 3 et 3t g g ) a7t @ a8 918 g iR 2 ot ol 9an 97 oRfes fag @ et R 32
3 km

3 it
B 4 km



4 frt

5 km
C

5 et

6 km
D

6 it

Correct Ans : C

Subject : General Reasoning

Q.No: 46 My office is to the east of my house. My sister’s office is to the south-east of my office. A park is to the south of my office. In which direction is my house located with respect
2438489

1 Pl IR F g § §1 A T67 1 Py IR P F aRw-gd § ¢ I Frkn 0 1w e §) o $ e § 3 e o | Ra ¢

North-east
A

IR

South-west
B

SRo-ufdm

North-west
C

IW-UEH

South-east
D

g

Correct Ans : C

Subject : General Reasoning

Q.No: 47 When a watch shows 7 : 45, the minute hand points towards east. When the watch shows 3'0 clock, which direction does the hour hand point?
2438511

99 UF 9l 7 : 45 @R §, @ e : g3 7 3t ok IR Hell B1 59w 3:00 @ EH 7, 9o Y g v famm @Y SR 3R et 72

North
A

TR

East
B

o

West
(o}

ufgm

South
D

it

Correct Ans : C

Subject : General Reasoning

Q.No: 48 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438692
A

I v Ul &1 RIS 7S Y1 W 9, @ <) S e srgfadl 7 @ o1R-3h wel g ofa e



>

@

) ) &)@

Correct Ans : A

Subject : General Reasoning

Q.No: 49  Three of the following four number-pairs are alike in a certain way and hue is different. Identify the different me.
2438887

frafafed IR den-gmi 8 9 3 fed g fafte 9o A 1@ g & 9uM ? SR U6 SAF 21 S99 S99 YET-J 3 Uga™ aifl

64:6
A

64:6

7:49
B

7:49

10:100
C

10: 100

D 4:16



4:16
Correct Ans : A

Subject : General Reasoning

Q.No: 50 Select the odd word/letters/ number from the given alternatives.

2438942
g T Rt & & R e/ aierdy e 1 9T
6
A
6
24
B
24
4
(o}
4
120
D
120

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439461
e ¥ I UG B YA S 3R F A= R
EI
A
EI
OA
B
oA
AE
c
AE
10
D
10

Correct Ans : B

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440249 gratement.

The schools will close down for a week if smog persists in the capital.
A. smog continues in the capital

B. smog is no longer seen in the capital

C. The schools closed down for a week

D. The schools did not close down for a week

R MYy F w1 T SR I9F 918 TR FUA &1 FU 1 i g IH, T U B BT A R B 9 8, iR ) By aifd T 781 Sy S W B
e H T 1 36T U 9 & fog ¥kd 96 el

A. IS H W S

B. S # 3§ ST T8 faadn

C. & g & fog g s

D. T U8 0% %d ¥4 1ol §¢

BD

BD



BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440278 gtatement.

If hand writing is good, the teacher gives good grades.
A. The hand writing was good

B. The hand writing was not good

C. The teacher gave good grades

D. The teacher did not give good grades.

T TC Y F g1 FU SR IEF ol IR B §1 FUAI BT B I T4, TE1 Ued FYA BT A0 GER U I 7, IR € A b T Y g9 $YF § 96 8
If TR 931 ¢, @ e o IS AR

A. THIGE 3T o

B. BICRG 3T TET ol

C. e 7 o I8 Ry

D. Rer 3 o I 7 fow

CA
A

CA

BD
B

BD

AD
C

AD

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440335 gtatement.

You are either a fool or a knave
A. You are a fool

B. You are not a fool

C. You are a knave

D. You are not a knave

3T M0 vy § 7 U SR IF TG IR FYA §1 FU BT B I T, TRT U6 HU BT A0 g $YA G 8, R A T A T F GBI B F I 81
guard g a g &

ATETER

B. gH ¥ T &

C. AT a

D. A T ¢ 78 &1
AC

AC



DA

cD
C

cD

AB
D

AB

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442027
Buy : Bought
fau e fawedl et Usg &1 T B
G : Tl forn
Defect : Region
A
9 &
Money : Shopping
B ¥ =
Schism : Diverge
C
Be & ST
Write : Wrote
D
forgm - forg fomr

Correct Ans : D

Subject : General Reasoning

Q.No: 56 Find the amount of Rs. 8660 for 18 months at 14 %per annum, the interest being compounded semi-annually.
2423633

8660 T I 18 TEIH & R 14% Wi af ot R I, <t srf-arfifes 2 €, Fawr fowam S 21 v af¥n = gt
Rs.10608.8724

A
Rs.10608.8724
Rs.7890.6315
B
Rs.7890.6315
Rs.2217.8710
C
Rs.2217.8710
Rs.3678.8713
D

Rs.3678.8713
Correct Ans : A

Subject : General Maths

Q.No: 57 The present population of a town is 78100. If it increases at the rate of 7% per annum, what will be its population after 2 years?
2423658

TS HW B A TG 78100 B A T8 7% Uid adf ot R J wgd! €, df 2 aY qIg STD! SRS T gRir?

9870.23
A

9870.23

6089.28
B

6089.28

8765.73
C

8765.73



D BY410.09

89416.69
Correct Ans : D

Subject : General Maths

Q.No: 58 At what rate percent compound interest per annum will Rs. 5760 amount to Rs. 6250 in 2 years?
2423675

e R R ufad el =t ufaay ¥. 5760 AR Y F. 2 9 § 62507

4.20%
A

4.20%

3.80%
B

3.80%

4.16%
Cc

4.16%

5.20%
D

5.20%

Correct Ans : C

Subject : General Maths

Q.No: 59 Solve:

2428558
16 + 4—=4 +25x4-75+25-[3+12-10+ 2 x 10 = 5)]
kas
16 +4—-4 +25x4-75+25-[3+12-10+ 2 x 10 = 3)]
51
A
51
82
B
82
85
C
85
88
D
88

Correct Ans : D

Subject : General Maths

Q.No: 60 Express the following ratio in the simplest form.

2429419
196 : 140 : 2800
SIUTd B WREaH T H R IR
196 : 140 : 2800
61:7:321
A
61:7:321
2:7:879
B
2:7:879

C 5:7:453



5:7:453
7:5:100

7:5:100
Correct Ans : D

Subject : General Maths

Q.No: 61 A grocer has a sale of Rs 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive months. How much sale must he have in the sixth month so that he gets an aver:
2432539

TF YOR} B AR 5 HEH @ 6435 0T, 6927 I, 6855 I, 7230 I 3R 6562 TuF ! fae St ¥1 B 7 # 39 U et it St =nfge aifs I 6500 Tl &t sivga fept oy

5000
A

5000

4500
B

4500

4991
Cc

4991

4199
D

4199

Correct Ans : C

Subject : General Maths

Q.No: 62 What is average of 7 runs, 9 runs, 11 runs, ..., 27 runs, 29 runs and 31 runs?

2432559
7,9, 11, ..., 27 ¥, 29 3 3R 31 A 1 37Nd &1 82
15
A
15
16
B
16
16.5
¢
16.5
19
D
19

Correct Ans : D

Subject : General Maths

Q.No: 63  What should comein place of question mark in the following number series?

2433107
(1552 +25) +16=?
Frafatea dear-saer § wai=eg (2) F w479 I HT JE1Aagy?
(1552 +25) +16 =72
5.12
A
5.12
1.87
B
1.87
3.88
c

3.88



[b] 4.02

4.02
Correct Ans : C

Subject : General Maths

Q.No: 64 If the age of 10 students in a hockey team is 11, 13, 14, 16, 15, 10, 17, 19, 15, 10. Then find the average age of the students in the hockey team.
2433852

e U gt m & 10 BET # oY 11, 13, 14, 16, 15, 10, 17, 19, 15, 10 31 @ g &1 & oHl &1 oid org 1 S

16
A

16

15
B

15

18
C

18

14
D

14

Correct Ans : D

Subject : General Maths

Q.No: 65 Find the value of the given equation-
2433988 44_6+43x2-87=7

fou T SRV AF T B
44-6+43x2-87=7

37

37
38

38
73

73
83

83
Correct Ans : A

Subject : General Maths

Q.No: 66 3 1
2434761 £ 24 a= 13, then find the value of(a+4) T lara?
3 1
Warra=i32d ) G erAR TR
364
A
364
540
B
540
440
€

440



420
Correct Ans : A

Subject : General Maths

Q.No: 67 A shopkeeper sold 14 kg onions in Rs. 322 at a profit of 15%. If he sold the 60 kg onions at Rs. 1175 then he will get

2435254
TH GPMGR A 322 ¥9 T 15% a4 R 14 f&.71. @ie 591 it 98 60 5.0, wWIe 1175 ¥08 H §3 o 34 Ui gem-
a profit of Rs. 45
A
45 Fq4 HT A
a loss of Rs. 25
B
25 ¥ @t 7
a profit of Rs. 35
C
35 0 B AH
a loss of Rs. 15
D

15 I $T g

Correct Ans : B

Subject : General Maths

Q.No: 68 A jar contains a mixture of mango juice and water in the ratio of 22: 3 respectively. 50 liters of mixture was taken out and 25 liters of water was added to the jar. If water was
2435444 jpjtjal quantity of mixture in the jar? (In liter)

TF IR & HOR: 22:3 F UG § 3 T 9 R Ut F1 frsror 1 398 § 50 cfiex frsyor Fapren S @ iR OR # 25 ofiex urt Sren S 31 afe afkomd fisor § 349 o o1, 6 39 oR & Ao a

175
A

175

125
B

125

150
C

150

75
D

75

Correct Ans : B

Subject : General Maths

Q.No: 69 ;. : s oned 3 s
3437512 1 the given option Which of the fractions is greater than " and lesser than i
ey M Rpead o i ¥ e g ST Fa e
1
A
1
4
3
B
3
C

(LR



Sle

Correct Ans : C

Subject : General Maths

Q.No: 70 yyhat should comein place of question mark in the following number series?
2437965

{7=18 x24 — (9683 +23)

Fafafa dear-saar & wafueg (2) F 4T I T AT Hg?

{7=18 x 24 — (9683 +23)

1000
A

1000

1728
B

1728

1331
Cc

1331

1225
D

1225

Correct Ans : C

Subject : General Maths

Q.No: 71 If SHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as?

2426497

If& SHARP B 58034 3R PUSH @I 4658 & 0 N HIf3d fawan Sl 8, df RUSH &1 Feas fawar smam?

3568
A

3568

3658
B

3658

3685
C

3685

3583
D

3583

Correct Ans : B

Subject : Mental Ability

Q.No: 72 In a certain code language, “Birds Can Fly” is coded as “Lo Li La". “Birds Have Wings” is coded as “Lr Lo Ls". “Animal Have Leg” is coded as “Ls Lu Lp". How will Wings be writte
2434412

& fAfyd Hs um F, "Birds Can Fly" &1 "Lo Li La" & w0 & gfed fdsan mar §1 "Birds Have Wings" @1 "Lr Lo Ls" & ¥9 & $fed a1 71 81 "Animal Have Leg" @1 "Ls Lu Lp" & &7 & f

Lp
A

Lp

Lr
B

Lr



Ls

Lo

Lo
Correct Ans : B
Subject : Mental Ability

Q.No: 73 If ‘GOBBLER' is coded as ‘SFMACPH’, then how is ‘PAINTER’ is coded?

2434448
If& *GOBBLER’ & 'SFMACPH’ & w4 H Feas a1 Wil €, @l "PAINTER’ & $9 Geas [l Sg?
SFVMIBQ
A
SFVMIBQ
SFUMJBP
B
SFUMJBP
SFUMIBQ
c
SFUMIBQ
RFUMJBQ
D
RFUMJBQ

Correct Ans : C
Subject : Mental Ability

Q.No: 74 In a certain language, ‘PEN’ is coded as ‘70’. How will ‘BOYS’ be coded as in that language?

2434971
T fAfya wror F, PEN' BT 170" F T F e S g1 U 4t 7 'BOYS 31 H feran wmwmr?
98
A
98
114
B
114
122
c
122
140
D
140

Correct Ans : C
Subject : Mental Ability

Q.No: 75 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435484 of the given conclusions logically follows from the given statements.

Statements:

1. Some pencils are pens.

I. All pens are markers.
Conclusions:

1. Some markers are pencils.
II. All markers are pencils.

III. No marker is a pencil.

F g T e F 1 U SR I9F a1g ofF e 1, 11 9R 111 T T ) S T TE e T W W 8, o) € S A i @ P i 99§ R e a6 i W e g o s
FU:

1. $% YR@ 9§

1. 9t 97 AR B



Y
1. 3 O Hfa F
11, oft Wi U B
111. Y AR AR 78

All the conclusions follow.

A

ot e argeRor BRar 21

Only conclusions I follows.
B

Faq ey 1 SRR Far Bl

Only conclusions II and III follow.
C

Fae Iy 1T 3R IIT TR0 Ha &1

Only conclusions I and III follow.
D

Faq fepy I 3R 1T SeR0 33 B

Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varie
2435544 \hich of the given conclusions logically follows from the given statements.

Statements:

I. Some walls are doors.

II. Some doors are chairs .
III. Some chairs are tables.
Conclusions:

I. Some walls are tables.
II. No wall is tables.

III. Some doors are tables.

=1 3 T uy & N Fu OfR I9F ar i e 1, 11 SR 111 3T T §1 et T T et Y W A, IR WERa: i aul § s a2 ], et iy v € b o e weHr B
FU:

1. $8 daR AN B

11. $© @™ P

IIL. $8 $uf 7 g1

e

1. 3% R A9 7

11, F1§ 4R A 781 &1

1II. T8 AN 79 g

Either conclusion I or II follows.

1 ot s 197 11 SR BRalT 81

Neither conclusion I nor III follows.

T s 1 3R € 1T SITERY e B

Only conclusion III follows.

ae e TIT SRR el 31

Both conclusions I and II follows.

St Y 1 3R 11 SRR A B
Correct Ans : A

Subject : Mental Ability

Q.No: 77 If 12 cuts are to be made on a cube, then what is the maximum possible number of identical pieces that can be formed?
2438436

I TF B W 12 FE T 8, I GHH gHel 3 S(iHad Ha TE fai & gadt 82
A 64



64

125
B

125

112
C

112

874
D

874

Correct Ans : B

Subject : Mental Ability

Q.No: 78 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439103 (ecide which of the given conclusions, if any follow from the given statements.

Statements:

All medals are pedals.

Some pedals are not noodles.
Some noodles are not daffodils.
Conclusions:

I. Some pedals are medals.

I1. Some pedals are daffodils.

$ w7 vy F N pu 90 I9F gy 3 e 19w 11 RE e § | enuat AT T w5y 9 S AEAT €, 4 8 95 wdad adt § i wela 8 8 Ut Sl & S1uR W IS HU SR o §
FY:

it isa Tea B

5o Usu o T &1

PO IS SHIST Tal 8

Frsmy:

1. 5% U5 Asa Bl

II. 33 Usa Wi g

Only conclusion I follow

Fad ey I g Hal §

Only conclusion II follows

g Prepd 1T SFFaRu S &

Both conclusion I and II follow

sy 1 3R 11 ST SR BRa §

Neither conclusion I nor II follows

T e 1 7€ 1T SR B B
Correct Ans : A
Subject : Mental Ability

Q.No: 79 If book is called notebook, notebook is called pen, pen is called pencil, pencil is called bag, bag is called class and class is called blackboard. Where a child put on his books?
2439217

Tl Gad B Aegd Fgl Y, Aiegd B 9 H1 9, I $) GRya g1 S, Tyd 1 971 gl Sy, 7 B Fa Hg1 Y R TG &) Kbars Hgl ol U Tl 30+ fhars waf waar 82

Blackboard
A

RATAIS

Bag
B

Eul

C Class



Book

Esd

Correct Ans : C
Subject : Mental Ability

Q.No: 80 If ‘eraser’ is called ‘box’, *box’ is called ‘pencil’, ‘pencil’ is called ‘sharpener’ and ‘sharpener’ is called ‘bag’, what will a child write with ?
2439286

I R’ B R gl I, ‘S AR g1 o, IR B AqdR R AR B AT YT A, & Ub T fhad wy fordmme

Eraser
A

W

Box
B

CiEs)

Pencil
c

frer

Sharpener
D

MR

Correct Ans : D
Subject : Mental Ability

Q.No: 81 Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok’s rank is 17th from the last, then what is Suresh’s rank from the start?
2439534

39 el 1 ue Fan ¥, W1, o=l A 7 U5 M §1 A 3RNE $1 U, Wy J 1741 8, & G &1 U8 3 § 1 gme

16t
A

164

23
B

2340

24t
c

244i

15t
D

1541

Correct Ans : A
Subject : Mental Ability

Q.No: 82 If E = 5 and AMENDMENT = 89, then SECRETARY = ?

2442202
IR E = 5 AR AMENDMENT = 89 ¥, i SECRETARY = ?
115
A
115
112
B
112
114
c
114
100
D

100



Correct Ans : C
Subject : Mental Ability

Q.No: 83 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442784
CARDAMOM

R M Ife weal & A 9% Wss gAY S T 1T g & 31eRT BT W SR e ST o [hdll
CARDAMOM
Card

Card
Mad

Mad
Road

Road

Cart

Cart

Correct Ans : D
Subject : Mental Ability

Q.No: 84 Which one word can be formed from the following letters ?

2442862
d aryboen
o sieRt § P 91 0@ g ST o Wl 67
d arvyboen
boldfaces

A
boldfaces
boneyard

B
boneyard
backslide

C
backslide
backswing

D
backswing

Correct Ans : B

Subject : Mental Ability

Q.No: 85 From the given alternatives select the word which cannot be formed using the letters of the given word.
2443002
PERSONALITY

Frafefed fawedl #f & 98 Tea 9T o 3T U T & S1&RT 1 TN PP T ST Sl Fhar?
PERSONALITY
REALITY

REALITY
REASON

REASON
PERSON

PERSON
D ROYALTY



ROYALTY
Correct Ans : D
Subject : Mental Ability

Q.No: 86 A and B can do a piece of work in 64 days and B in 60 days. They work together for 9 days and then A goes away. In how many days will B finish the remaining work?
2423745

A 3R B TF &M B! 64 AT § 3R B, 60 3 §f &= TFHd §1 7 9 Rl 9% U 1y &1 a5 § oiR fohR A I o1 31 99 of 1 B foraa foit & wwra wwm?
2431/18 days

A
2431718
3300/64 days
B
3300/64 f&7
1209/12 days
C
1209/12 f&a
1671/14 days
D

1671/14 A
Correct Ans : B

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 11 days; B and C in 13 days and A and C in 17 days. In what time can they do it, all working together?
2423761

AR B TEF TR @I 11 Al H IR G3d §; 13 T 7 B 3R C iR 17 AT K A 9fR €. 3 Wt v 1y o197 ol BT TR e O & a1 9§72
8765/23 days

A
8765/23 &
2578/161 days

B
2578/161 f&
3421/151 days

C
3432/151 &A1
2431/551 days

D

2431/551 f&F
Correct Ans : D

Subject : General Aptitude

Q.No: 88 If one side of a square is 4 cm then, find its area.

2426190
I T I B TP Yo 4 A0 B, < IUST B I B¢
12 ecm?
A
12 F#R
5 cm?
B
5 JHe
16 cm?
c
16 {#R:
10 cm?
D
10 e

Correct Ans : C



Subject : General Aptitude

Q.No: 89 Find circle’s diameter if circle’s area is 198 cm?.
2426211

IfE Feher T aTAwe 198 JHR § ot Tehel ST a1 31

16.77 cm

A
16.77 ¥R
14.99 cm

B
14.99 ¥dfier
18.33 cm

c
18.33 ¥fiey
15.88 cm

D
15.88 ¥difiex

Correct Ans : D

Subject : General Aptitude

Q.No: 90 Calculate the cube’s surface area if length of each side is 6 cm.
2426215

I UAF U4 P} IaE 6 YT § A O & g &F DI T0AT B

126 cm?
A

126 32

216 cm?
B

216 d#R

160 cm?
C

160 I

120 cm?
D

120 d#R

Correct Ans : B

Subject : General Aptitude

Q.No: 91  Which of the following is divisible by 9?

2427609
Frofifea § 3 oF 9 4 favrsa §2
876435689

A
876435689
891287544

B
891287544
982834677

C
982834677
93480912

D
93480912

Correct Ans : C

Subject : General Aptitude



QUNQ: g2 Trrmr e s iy i

2427622
Froffea # @ o1 6 @ favrsa &2
3467853216907

A
3467853216907
86532368042

B
86532368042
43321556679

G
43321556679
5678765422578

D
5678765422578

Correct Ans : D

Subject : General Aptitude

Q.No: 93  Which of the following is divisible by 13?

2427635
Frofifea # 3 oF 13 § foursa @2
3048501
A
3048501
3941038
B
3941038
7893125
c
7893125
1948403
D
1948403

Correct Ans : C

Subject : General Aptitude

Q.No: 94 My mother is twice as old as my sister and my father is 24 years older than me.At the time of my sister's birth I was 5. My sister is 25 now.What is the difference in the age of
2431190 3§ [ Y oy A w6+ P g B QT B SR A U Y oy AR 3y F 24 avf @i B1 A w5 & o9 & g F 5 af o7 41| AN w57 31 omg ol 25 o 1 W Avar-Rar B ang F fiw @ SR

3 years.
A 3af

4 years.
B 4

5 years.
¢ 5
D 6 years.

6T

Correct Ans : B

Subject : General Aptitude

Q.No: 95 How many pairs of x and y satisfy 3x + 6y = 18 and 9x + 18y = 57?

2431201
x 3R y & fFa W 3x + 6y = 18 TUT 9x + 18y = 57 Bl TP FRd &2
2
A
2
1
B
1
0
c
0



3
Correct Ans : C

Subject : General Aptitude

Q.No: 96 The angles of a quadrilateral are In ratio of 6 : 5 : 7: 2. The largest angle of the quadrilateral is equal to the largest angle of a triangle. One of the angles of the triangle is 31 ¢
2431345 of the triangle?

THIgT FHU 6:5:7: 2F U A § | Igye &1 < Fon, Ay & Moo & R § 1 By o1 b Hor o1 7 31 530 € | By & ag sio o1 am w1 g 2

A 29 degree
29 &l

B 31 degree
31 &

c 23 degree
23 f&h

D 27 degree
27

Correct Ans : C

Subject : General Aptitude

Q.No: 97 There are two cuboidal whose dimensions are length, breadth, and height are respectively 23m, 30m, 40m and 30m, 12m, 44m. Which box requires the higher amount of mat
2433780

< a § e famt deng, diets ok Sand wusr 23 M, 30 MW, 40 W ek 30 M, 12 W, 44 F §)1 Ry TR B R F [ il TEn F ah @ srazgdar 9 82

First Box
A
e i
Second Box
B
T St
Neither first box nor second box
C
7 g fsar 3R 7 € gt fg
Can’t be determined
D

fefia =t forar o e

Correct Ans : A

Subject : General Aptitude

Q.No: 98 ' The trapezium shape of pipe. If the pipe is 10m wide atthe top 6 m wide at the bottom
2433809 44 the area of cross-sectionis 72 m? determine its depth.

ATET F FRAH ATA T AFC G AR TR G 9T 10 e AT AT 6 HIz<AZTE
A FT-TFITFTAT 72 RI2<2 TV ZHAT TE0E Mg 2

10
A

10

20
B

20

30
C

30

9
D

9

Correct Ans : D

Subject : General Aptitude

Q.No: 99 Find the sum of their ages, if the ratio of the ages of two students is 5 : 8 and the age of one of them is greater than that of the other by 15 years.
2436893



i &l BT DI 3G DT SJUId 5:8 § SR ITH H U P S g PTG 15 g 3{IYP g, dl Sl Y &I I J1d PITI

60 years
A

60 af

62 years
B

629§

64 years
C

64T

65 years
D

65 4

Correct Ans : D

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark *?’ in the following number series?

2444753
2, 10, 30, 68, 130,
frfefea Wem s # ue g 2 & R W a s
2, 10,30, 68,130,
216
A
216
222
B
222
250
o
250
210
D
210

Correct Ans : B

Subject : General Aptitude



